Algebra 1

Day Date Video Assignment Due Is it done?
11|Monday 3/30/2020 |8.5 331,part2
12| Tuesday 3/31/2020 335
13|Wednesday [4/1/2020 practice quiz, 8.1-5
14| Thursday 4/2/2020 take quiz
15|Friday 4/3/2020 |8.6, part1 |none
16|Monday 4/4/2020 |8.6, part2 [339, part 1
17|Tuesday 4/5/2020 (8.7 339, part 2
18|Wednesday |4/6/2020 (8.8 344
Tuesday 4/14/2020 348

How many total did you do:




Name Practice, Algebra 1, 8.1-5
State the restriction and simplify. (5)

20x°

i.
10x*®

8x+12
2,

-4

3‘ ———————————————————
x*+7x+10

xZ -1
x:+6x+5

x* -4

X +6x+8




Multiply. (5)
6 58

y' 3

-5y 3xz

2

5x+10 y
y x+2

8.

0 xt—25 xt~1
S ¥=10x+25 x*—-6x+5




Divide. (5)
3x?  15x
—_—
4y 20y°

x-2 x-2
-+
X x-6

x’—l6+x—4
x+3 x+3

x-4 x+2
+
x-1 x*-2x+1

x’—4_2x—6
x-3 11




f“ind the Least Common Denominator. (3)
2 3

" Swx 15wz

1 2
i8.

P +4x+3°x¥ -9

Write equivalent expressions with the Least Common Denominator as the denominator. (2)

8 9

20

x2+3x-10"2-x



3 4
x+1 x+4

5 4 3
b —+
6x?  3x 2x




Name Quiz, Algebra 1, 8.1-5

State the restriction and simplify. (5)

5x*
1
10x?

4x +12
2.

, XD
" xP+T7x+10

x* =25
x2 +6x+5

x?-4

X +7x+10




Multiply. (5)
6 &V

v 2x

C10y* 3xz

x? —16_ 3x?
X 4—x

x*-25 x'-1
x+1 x*-6x+5




Divide. (5)
w1
4y  20y°

11.

x-2 x-2
x x+4

12,

x’-9 x-3
x+3 5

x’ -4  x+2
x-1 x*+2x+1

14.

x'-4x+4 2x-4
x-2 1

15.




Find the Least Common Denominator. (3)

2 3
16

" Swx 10w’z

7 8
17.

x+1'x+4

1 2
18.

x> +4x+4"x* -4

Write equivalent expressions with the Least Common Denominator as the denominator. (2)

5 6
19, ——

4x*y’ 3xy*

8 9
20.

x2-3x-10"5-x



Add or subtract. (5)

5 3
2l —+—
4x 4x

4-x 4-x

2 3
23, ——+
x+1 x+4




Name Algebra Quiz, Chapter 8 Vocabulary

1. What is a rational expression?

2. What is a polynomial?

3. What is a monomial?

4, What is a mixed expression?

5. What is a complex expression?

6. How do you simplify complex expressions?

7-8.  What two cases do we have to divide, and how do you do each?

9. What is a proportion?

10.  How do you solve proportions?

11, What is a ratto?

12. How do you solve equations with rational expressions?
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Algebra Notes, 8.8 {2019)

Ratios compare numbers, generally by making fractions.

Put the first number over the second number and then reduce, but you have to leave the answer in fraction form. Improper
fractions are fine. Mixed number and whole numbers are not. Even though in the past, we never left things on top of 1, for
ratios, we will sometimes have to do that.

Keep in mind also that the fraction bar means to divide, and sometimes you will have to do some division to make things work
out.

8to 12

1/3to7

6to33/4

4to3.2

6 to 8x

8x% to 12x

2 ft to 6yards

2.8cmto 70 mm

$3.60 t0 $.40

36to .2



To check is two ratios are equal, cross-multiply. i the answers match, it is true.

5/8 = 25/40

7/11=4/6

if 5 cans cost .95, then 8 cost 1.62

To solve for a variable, cross-multiply and then do opposites

5/6 = 30/x

5/6 = 31/x

(x+3)/5 = 12/15

2/(x+3) = 3ﬁx+4)
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Name Practice, Algebra 1, 8.6-9

Simplify each mixed expression. (3)

1. 3+4
X

2, 2xii—-

c-1
———+c

> 3c+1

Simplify each complex rational expression. (3)
1 1
(. + =2
* Yy

4 7 4

S
X

5.5
L

3x 3y



Divide the polynomials. (5)
7. (4x* — 6x* —8x) + 2x°

8. (9x’y* —6x?y* — 3xy) + 3x?y?

9. (x* =5x+4)+(x-1)

10. (6x* =Tx+4)+(x-3)

11. (6+3x*)+(x—2)




Express as a ratio in simplest form, (3)

12. 30 to 45

13. 4 feet to 10 yards

14. 2.4 cm to 30 mm

True or false? (2)

12 18
14 20
12_36
25 75
Solve. (4)
7 21
17 —=—
8 x
S5¢ 15
3 —=—
12 36
x+1 16
9D —=—
5 20
3 16
20, ———=




Solve. (5)

21.—1~+3=12
X x
n 2. 19%_,
3 6
4 1 3
23— —=—
3x 2 4x
2, =5
x+5 x+5
2x+4 bx
25. =




Name Practice Test, Algebra 1, Chapter 8

State the restriction and simplify. (5)

5x°
1.

25x?

6x+12
2.

x2-25

x2—6x+5



Multiply. (5)

ox’z’ 5y*
©20y° 3xz?

3x+9' yt _
y. x+3

8.

x? -25 3x?
X S5—x

x2-25 x*-1
10. .

x+1 x?—-6x+5




Divide, (5)

11 .ﬁ; 9x
4y 16y

x'-25 x-5
x+5 13

x’-9  x43
x-1 x*-4x+3

x’-9 2x+6
x-9 11




Find the Least Common Denominator. (3)
2 3

D Swxd 12wz

7 8

1 E

x+3 x+2

1 2
18

" x?+8x+16 xX -16

Write equivalent expressions with the Least Common Denominator as the denominator. (2)

5 6
19, ——

3x3y ’ 4xy2

8 9
20

" x*+3x-18"3—x



Add or subtract. (5)
5 7

21, —+ —-
3x 3x

2x 10
5-x 5-x

4 5
23, ——+
x+1 x+2

3 B 4
x-5 x2-25

7 3
. +—t
12x2 3x 4

| —




Simplify each mixed expression. (3)

26.4+E

X

27. 6x - Tk

28.
2c+1

Simplify each complex rational expression. (3)

1 1
+
I 4
29, 7
— s
X
5 5
+
x Yy
30. 2 2

—+
3x 3y




Divide the polynomials. (5)
32. (3x* ~6x® - 12x) + 3x°

33. (16x°y* —12x%y* ~ 2xp) + 4x?y?

34, (x* —6x+8)+(x-2)

35. (6x° — 7x +8) +(2x - 3)

36. (3x* —17) +(x-2)




Express as a ratio in simplest form. (3)

37.30t0 18

38. 6 feet to 12 yards

39. 1.2cmto 30 mm

True or false? (2)
12 12

0 —=—
10 30

12_36

41. =
20 60

Solve. (4)

7 35
42, —=—
10 x

5¢ 40
43, —=—
12 48

8 16
x+2 x+3

43.




Solve. (5)
46. l + z =2
X X

=

| S
47. —+

& |
|

48, i+_1_._ 3

6x 4 2x

= 5
49, =3
x+5 x+5

2x+5_ 8x
x-5 x-5

50,




